Normal | Reading *******

EA 30VIDC

REQ | R1 o
RT ‘ 6 KQ

IT

ER1 ' —e TP2

ETPI

EREQ . R2 R3 R4
ERS _ 6 KO ? KO 2 KO

ETP2

— e TP3

ETP3

IR2 R5

IR3 3 KQ

IR4

Find The Malfunction:

1)RT{ to 9 KQ

2) REQ=2KQ

3)RT = o, ETP3 =30VDC
4HRTT,IT{

5) ER1 =30V, EREQ = 0V, ER5 = OV

6) ETP1 =30V, ETP2 = 12V, ETP3 = 12V
7)RT T.IR3 =0A

8) ER1 = 18V, EREQ = 12V, ER5 = 0V



Normal | Reading ******x*

EA SO\CDC

REQ . ¢ TP1
RT LOKQ
IT

ER1 e TP2

EREQ R2 R3 R4

ER5

15K 5K 15K

ETP1

ETP2

e TP3

ETP3

IR2 : RS
i 10KQ

IR4

Find The Malfunction:

1) ER1 =50V ,EREQ=0V,ER5=0V

2) ETP1 =50V ,ETP2 =50V, ETP3 =50V
3) ER1=20V,EREQ=0V,ER5=30V

4) ETP1 =50V, ETP2 =25V, ETP3 =25V
5) ETP1 =50V, ETP2 =30V, ETP3 =0V
6) ETP1 =50V ,ETP2=0V ,ETP3 =0V



30VDC
I

o TP1
R1 :
6 KQ

- TP2

R3 R4
6 KQ 3 KQ 2 KQ

Normal | Reading ******x*
EA 30V

REQ 1KQ

RT 10KQ

IT 3mA

ER1 18V

EREQ |3V

ERS5 oV

ETP1 |30V

ETP2 |12V

ETP3 |9V

IR2 .Sma

IR3 Ima

IR4 1.5mA

Find The Malfunction:

1DRT Y to 9KQ
2) REQ=2KQ

3) RT= o, ETP3 =30VDC

4HRTT,IT

5) ER1 =30V, EREQ =0V, ER5 = 0OV
6) ETP1 =30V, ETP2 =12V, ETP3 = 12V

7)RT T.IR3=0A

8) ER1 =18V, EREQ =12V, ERS5 =0V

- TP3

Rsi
3 KQ

REQ SHORT
R4 Open

R5 Open
REQ Open
R1 Open
REQ Short
R3 Open

R5 Short



SOVIDC

Rlé
10K

*TP1

15KQ [5K0O

R3 R4

Normal | Reading *******
EA 50VDC
REQ 5KQ

RT 25 KQ

IT 2mA

ER1 20VDC
EREQ | 10VDC
ER5 20VDC
ETP1 |50VDC
ETP2 |30VDC
ETP3 |20VDC

IR2 .666mA
IR3 .666mA
IR4 .666mA
Find The Malfunction:

1) ER1 =50V ,EREQ =0V, ER5=0V

2) ETP1 =50V ,ETP2 =50V, ETP3 =50V
3) ER1 =20V ,EREQ=0V, ER5=30V

4) ETP1 =50V ,ETP2 =25V ,ETP3 =25V
5) ETP1 =50V ,ETP2 =30V, ETP3 =0V
6) ETP1 =50V ,ETP2=0V ,ETP3 =0V

Ri%
10K

R1 OPEN
R5 OPEN

15K

-o TP3

REQ SHORT
REQ SHORT

R5 SHORT
R1 OPEN



